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Install R 2.11
http://cran.us.r-project.org/bin/windows
install.packages(“package name”)

#e.g. install.packages(“DAAG”)
library()

#give access to the functions and data sets in the package e.g. library(car)
help (command) 

#help manual on server e.g. help (plot)
objects()

# list the names of all objects
attach()

#allow the use of data frame. If you don’t attach the data, you still can access the data by indicating it every time. e.g. library(DAAG); data(ais); table (ais$hc)
rm()

    #remove the object named data1 from the current environment
search()

#list all packages
setwd()

#set up the working directory

save(object1, object2,..,file = "d:/file_name.Rdata")
#save all the objects you create
load("d:/file_name.RData")


#load the objects
objects()


#examine the objects in the memory 
source ("http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/regression.R")
# execute a script of commands
# please install packages: arm, car, lattice, foreign, DAAG, Zelig, RODBC
Functions

options(digits=5)    # number of integers (for more options: op <- options(); utils::str(op) # op() may contain functions. e.g. options("prompt"="R~~  ")
# arithmetic, interacting with the interpreter

2+3

2-3

2*3

2/3

2^3

4^2-3*2

(4^2)-(3*2)

1-6+4

2^-3

-2--3

-2 - -3

# functions

log(100)

log(100, base=10)

log(100, b=10)

log(100,10)

"+"(2,3)
choose (4,2)*(0.5)^2*(0.5)^(4-2)


# permutation (binomial distribution)
# vectors

c(1,2,3,4)

rep(5,3)

#repeat the element

rep(c(1,2,3), 2)

rep(c("台北市","新北市","台中市","台南市","高雄市"), c(2,2,2,2,3))
seq(1,4)
#sequence of numbers=c(1:4) 
seq(2, 8, by=2)

seq(0, 1, by=.1)

seq(0, 1, length=11)

c(1,2,3,4)/2

c(1,2,3,4)/c(4,3,2,1)

log(c(0.1,1,10,100), 10)

c(1,2,3,4) + c(4,3)
#sum of elements of two vectors

c(1,2,3,4) + c(4,3,2)

# variables

x <- c(1,2,3,4)

x

x/2

y <- sqrt(x)

y

x <- rnorm(100)
#100 samples from the normal distribution (or runif(m,min,max), rbinom (m,n,p))

x

summary(x)

#subsets of vectors
x[21]

#the 21st element of x vector

x[11:20]

x[-(11:100)]
#remove the 11th through 100th elements of x vector

campaign.money<-c(KMT=7000, DPP=350, IND=400 , 630, 300, 200)
campaign.money[c(“KMT”, “IND”)]

# user-defined functions

x.20<-sample (3:10, size=20 , replace=T)
mean(x.20)

sum(x.20)/length(x.20)

my.mean <- function(z) sum(z)/length(z)

my.mean(x.20)

my.mean(1:100)

my.mean(rep (c(1:10),2))
w.avg<-function(N,P)sum(N*P)/sum(N)

P_nation<-c(0.55,0.61,0.38)

N_nation<-c(1000,5000,1500)

w.avg(N_nation, P_nation)
se.w.avg<-function(N,se)sqrt(sum((N*se/sum(N))^2))
se_nation<-c(0.02,0.03,0.03)
# cleaning up

detach()


#data is no longer attached

remove(x, y, z) 
#data and object are no longer in the memory

rm(list=ls())  

# clear everything out of memory
objects()

Enter and modify data

simpsons <- c("Homer","Marge","Bart","Lisa","Maggie") # vector of strings
sales =c(45,44,46)

names(sales) = c("John", "Jack", "Suzy")

# make a table
sales
beer = scan()

#input data
3 4 1 1 3 4 3 3 1 3 2 1 2 1 2 3 2 3 1 1 1 1 4 3 1
# read existing data

hsv <- read.table ("http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/hs0.csv", header=T, sep=",") #read csv file
fuel<-read.table("http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/fuel.txt", header=T, sep=",")
fixed <- read.fwf("http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/schdat_fix.txt", width = c(2, 2, 2, 1, 2, 2, 1))

names(fixed) <- c("id", "a1", "t1", "gender", "a2", "t2", "tgender") #read ASCII file
library(foreign)  # library to read SPSS, Stata, Sas datasets
stata.gnp <- read.dta(file="http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/gnp.dta")  # read stata data file
stata.md <- read.dta(file="http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/md.dta")  # read stata data file
REFdata.1<-read.spss("http://www3.nccu.edu.tw/~tsaich/ Sinica_R_WinBUGS/TPSA09_Data_0901.sav",to.data.frame=TRUE)
http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/trend.xls

# Download the Excel file to your working directory

library(RODBC)
# library to read Excel datasets
require(RODBC)
mydata <- odbcConnectExcel("D:/trend.xls")

tondutrend<-sqlFetch(mydata,"Sheet1")
x1<- scan("http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/scan.txt", what=list(age=0, name=""))  #read 4 records

x2<- read.table ("http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/scan.txt")
#read a table
library(car)
#use the dataset in the library
data()

#check out the datasets in the library
data(Florida)
#use dataset Florida
names(Florida)
#examine the variables in the dataset
Florida [1:4,1:4]
#examine the elements of the data

Florida [1:6, ]
attach(Florida)
Florida.1 <-data.frame (V1=GORE, V2 = BUSH) # copy only 2 variables, change their names, and install them in a new dataset
guyer <-edit(as.data.frame(NULL))
# use R editor to input data
fix(guyer)





# edit the existing data frame
   cooperation 
condition
 sex

1           49         P   M

2           64         P   M

3           37         P   M

4           52         P   M

5           68         P   M

6           54         P   F

7           61         P   F

8           79         P   F

9           64         P   F

10          29         P   F

11          27         A   M

12          58         A   M

13          52         A   M

14          41         A   M

15          30         A   M

16          40         A   F

17          39         A   F

18          44         A   F

19          34         A   F

20          44         A   F
#elements will be treated as either numeric or character
#Modify data

library (car)

data (Duncan)
names(Duncan) 
colnames(Duncan)<-c("type","收入","education","status")
# change the variable labels
is.factor(Duncan$type)

# check if type is a factor
table(Duncan$type)
occu<-as.numeric(Duncan$type)
# change the characteristic of “type” and make a new variable
職業<-recode (type, "'bc'='藍領';'prof'='專業'; 'wc'='白領'")
# change the variable values
income.new<-recode(Duncan$income,'lo:30=1;31:60=2;else=3')
# recode the variable value
cbind(Duncan, occu,職業,income.new)
# attach the new variables to the existing dataset
table (Duncan$income.new)
# Matrices, arrays, and lists

A <- matrix(1:12, 3, 4)

A

B <- matrix(c('a','b','c'), 4, 3, byrow=T)

B

dim(A)

dim(B) 
list.1 <- list(mat.1=A, mat.2=B)

list.1
array.3 <- array(1:24, dim=c(4,3,2))
# a vector which is stored with additional attributes giving the dimensions
array.3

dim(array.3)

S<-c(1, 3, 2, 10, 5 )

T<-c(1, 2, 3, 4, 5) 

mat1<- cbind(S, T); mat1
# column bind
mat2<- rbind(S, T); mat2
# row bind
m1<-matrix(1:4, ncol=2); m2<-matrix(c(10,20,30,40),ncol=2) 

2*m1                # scalar multiplication 

m1+m2               # matrix addition 

m1*m2               # component-wise multiplication 

m1 %*% m2 


# matrix multiplication
solve(m1)            #inverse matrix of m1

# OLS model
library(car)

attach(Anscombe)
Anscombe [1:10,]
con<-rep(1, 51) 
edu<-as.vector(Anscombe$education)
yng<-as.vector(Anscombe$young)
urb<-as.vector(Anscombe$urban)
inc<-as.vector(Anscombe$income)
X<-matrix (c(con, inc, yng, urb), byrow=F, 51,4)
Y<-matrix(c(edu), byrow=F, 51, 1)
XX<-solve(t(X)%*%X)

XY<-t(X)%*%Y

beta<-XX%*%XY

options(digits=4)

beta

#Beta=(X’X)^-1X’Y
m1 <- lm (education ~ income+young+urban,data=Anscombe)

summary(m1)
#time series

attach(tondutrend)      

tondu.ts<- ts (tondutrend, start=1994.5, frequency=2)
#data frame

campaign.money=data.frame(money=c(7000,350,400,630,300,200),percent=c(0.5,0.3,0.02,0.08,0.005,0.005))

#construct a two-variable data frame

rownames(campaign.money)=c("KMT","DPP","IND",4,5,6)
#add 3 row names

campaign.money
# cleaning up

objects()


#examine the objects in the memory
detach()


#data is no longer attached

remove(x, y, z) 
#data is no longer is the memory
rm(list=ls())  

# clear everything out of memory
objects()

Univariate data analysis

whales <- c(74, 122, 235, 111, 292, 111, 211, 133, 156, 79)

S <- sum(whales)

n <- length(whales)

average <- S/n              ## compute the average "by hand"

mean(whales)                 ## use the built-in R function

sort(whales)                   ## from lowest to highest

min(whales)

max(whales)

range(whales)                 ## min and max

diff(whales)                    ## year-to-year change

cumsum(whales)            ## cumulative sum of whales

library(car) ; data (Duncan)

quantile(Duncan$income)

# percentile of the vector
quantile(Duncan$income,c(0,1/3,2/3,1))
mean(stata.md$educ)

# contains a missing value
stata.md.educ<-stata.md$educ[!is.na(stata.md$educ)]; stata.md.educ      # retain only non-missing cases
stata.md.new<-na.omit(stata.md)

# delete the missing values in data
length(stata.md.new$educ); length(stata.md$educ)
Plot

plot(Duncan$income ,col=19, pch='$', cex=2)

# scatter plot
plot(hsv$write, hsv$math, bty=’l’, lty=2)


# scatter plot of 2 variables

plot(Florida$GORE ~ Florida$BUSH)

rug(Florida$GORE)






# rug function points the data point

rug(Florida$BUSH , side=2)

abline (0,1)
library(DAAG); data(primates); attach(primates)

plot(Brainwt ~ Bodywt, xlim = c(0, 300))

text(Brainwt ~ Bodywt, labels = row.names(primated), pos = 4) #pos=4 place text to the right of the points
Time series
par(xpd=NA, mai=c(0.90,0.75,0.90,0.75))                # set up the frame 

plot (tonduts,lwd=5,type='l',plot.type = c("single"),lty=1, col=c('red','blue','darkgreen','black'),pch='1',frame.plot=F,ylab="%",axes=F,xlab=NULL)

 title(main="統獨立場趨勢圖 \n 1994年12月至2009年12月") 

# split the title
lasttondu20 <-window (tonduts, start = 1999.5)

#extract the subsets of the object between the times
plot(lasttondu20)
par(xpd=F, mai=c(0.9,0.8,0.9,0.8))

# return to the original frame
library(DAAG)

data(jobs)

jobts <- ts(jobs[, 1:6], start=1995, frequency=12)

par(xpd=NA, mai=c(0.90,0.75,0.90,0.75))  

plot (jobts, plot.type='single', xlim=c(1995, 1996+11/12), lty=1:6, log="y", xaxt="n",xlab="",ylab="Jobs")

ylast<-bounce(window(jobts, 1996+11/12),d=strheight("0"),log=T)
text (rep(1996+11/12,6), ylast, colnames(ylast), pos=4)
#Time Series of LakeHuron

 library(stats)

 data(LakeHuron)

 plot(LakeHuron, ylab="depth", xlab="Time", main="LakeHuron")

 lag.plot(LakeHuron, lags=4, do.lines=F)

acf(LakeHuron)

#Autoregressive models

LH.yw<-ar(x=LakeHuron, order.max=1, method="yw")  #AR(1)model

LH.yw$ar #alpha

LH.mle<-ar(x=LakeHuron, order.max=1, method="mle")

LH.mle$ar

LH.mle2<-ar(LakeHuron, order.max=2, method="mle")

LH.mle2$ar

#partial

pacf(LakeHuron)

acf(LakeHuron, type="partial",main="")
Histogram

hist(fuel$Mileage, prob=F)    # if probability instead of frequency is desired
hist(hsv$socst, prob=T, xlab='Social Study', breaks=12, col=29)


lines(density(hsv$socst))

# add to histogram

Boxplot

boxplot(Duncan$income)



# horizontal boxplot
boxplot(fuel$Weight, horizontal=F)  
rug(fuel$Weight, side=2)



 
Barplot

sales =c(45,44,46)

names(sales) = c("John", "Jack", "Suzy")

#make a table
barplot(sales, main = “Sales”, ylab = “Thousands”)

barplot(table(hsv$prgtyp)/length(hsv$prgtyp) , col=gray(0.8))
# proportions
Piechart

pie (table(fuel$type))

# make a table of a categorical variable and show the difference between categories
pie (sales)
Dotchart

dotchart (table(hsv$race))
# make a table of a categorical variable and show the difference between categories
Exploring Data

attach(hsv)

vars <- hs0[ , 7:10]  


# shorthand way of referring to read, write, math, science 
sapply(hs0, mean, na.rm=T)
# descriptive statistics (mean)
 

 sapply(vars, length)  # count
 sapply(vars, median, na.rm=T)  
# median
 tapply(write, prgtype, mean) 

# mean of write by prgtype
tapply(science, prgtype, mean, na.rm=T) # mean of science by prgtype
summary(science)



#More descriptive statistics including percentiles 
 

library(lattice)  # load trellis graphics
hist(write)

histogram(~write, hsv, type="count")# trellis graphs 
histogram(~write | gender, hsv, type="count")  # histogram of write by gender
hist(write, breaks=15) 
barplot(table(ses, gender), legend=c("low", "medium", "high")) #cross table in a bar plot
barplot(table(ses, gender), beside=T, legend=c("low", "medium", "high"), ylim=c(0, 50))

village<-rep(c("大成里","大仁里","大灣里"), c(12,12,12))

家戶收入<-c(c(156,160,136,25,22,39,50,90,22,26,30,18),
c(80,55,36,35,32,39,50,70,22,26,30,40),
c(100,101,101,102,50,53,55,54,61,62,66,69))

household.data<-data.frame (village, 家戶收入)
bwplot (village ~ 家戶收入, data= household.data)
# boxplot of two variables
 

Multivariate data analysis

Cross tables

tab1 <- table(gender, ses)
tab1 

prop.table(tab1,1)  # row proportions
prop.table(tab1,2)  # column proportions
summary(tab1)  # chi-square test of independence
#Correlation

cor(vars, use="complete.obs") #with listwise deletion of missing values
Regression
library(car)

data(Freedman)

attach(Freedman)
model.1<-lm(crime ~ log(density, base=10)) 
#lm(Y ~ X, data=’’)

summary(model.1)
attach(hsv)

model.hsv.m = math[gender==1]~write[gender==1]

plot(model.hsv.m)

abline(lm(model.hsv.m))

 model.hsv.fe = math[gender==0]~write[gender==0]

 points(model.hsv.fe, pch=16)





# add points
 abline(lm(model.hsv.fe), cex=2, lty=2) 


# add the second line
 legend(36,70,legend=c("0=female","1=male"), pch=c(1,16), lty=1:2)
# add the legend
library(Zelig)
duncan.fit.1<-zelig(prestige ~ income+type, data=Duncan, model=”normal”) #e.g. glm(Y ~ X, data = , family=logit)

summary(fit.1)
stata.kid <- read.dta(file="http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/kidiq.dta")
fit.stata.kid <- lm (kid_score ~ mom_iq, data=stata.kid)

plot (stata.kid$mom_iq, stata.kid$kid_score, xlab="Mother IQ score", ylab="Child test score")

curve (coef(fit.stata.kid)[1] + coef(fit.stata.kid)[2]*x, add=TRUE, col=4)
fit.2v <- lm (kid_score ~ mom_hs + mom_iq, data=stata.kid)
 colors2 <-ifelse(stata.kid$mom.hs==1, "red", "blue")
 plot (stata.kid$mom_iq,  stata.kid$kid_score, xlab="Mother IQ score", ylab="Child test score", col=colors2, pch=20)
curve (cbind(1,0,x)%*%coef(fit.2v), add=T, col ='blue')

curve (cbind(1,1,x)%*%coef(fit.2v), add=T, col ='red')
points (stata.kid$mom_iq[stata.kid$mom_hs==0], stata.kid$kid_score[stata.kid$mom_hs==0], col="blue",  pch=20)

points (stata.kid$mom_iq[stata.kid$mom_hs==1], stata.kid$kid_score[stata.kid$mom_hs==1], col="red", pch=20)
# Confidence intervals

# Example 1

plot(kid_score ~ mom_iq, data=stata.kid)

 xy <- data.frame(mom_iq=pretty(stata.kid$mom_iq, 20))
 yhat<-predict(kid.lm, newdata=xy, interval="confidenc")

ci<-data.frame(lower=yhat[,"lwr"], upper=yhat[,"upr"])
abline (kid.lm$coef, lty=1, col="blue")

 lines(xy$mom_iq, ci$lower,col="gray")

 lines(xy$mom_iq, ci$upper,col="gray")
# Example 2
fuel<-read.table("http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/fuel.txt", header=T, sep=",")
attach(fuel)
fit.f<-lm(Fuel ~ Weight, data=fuel)

summary(fit.f)
plot(Fuel ~ Weight)

 xy <- data.frame(Weight=pretty(Weight, 30)) # obtain 30 observations from Weight as a 30*1 vector
 yhat<-predict(fit.f, newdata=xy, interval="confidence") # calculate the predicted values
ci<-data.frame(lower=yhat[,"lwr"], upper=yhat[,"upr"])
abline (fit.f$coef, lty=1, lwd=2)

 lines(xy$Weight, ci$lower, lty=3)

 lines(xy$Weight, ci$upper, lty=3)
# Model fit and prediction

fit.3 <- lm (kid_score ~ mom_hs + mom_iq, data=stata.kid)

x.new.data<-data.frame (mom_hs=c(stata.kid$mom_hs), mom_iq=c(stata.kid$mom_iq))
pred.1<-predict(fit.3, x.new.data, interval="prediction")
 pre.data<-data.frame(stata.kid$kid_score, pred.1)

 names(pre.data)=c("kid.actual","pred.y","lower","upper")

 attach(pre.data)

 plot(kid.actual ~ pred.y, xlim=c(20, 140))
 abline(0, 1)
# regression diagnostics

library(car)

attach(Duncan)

duncan.model <- lm (prestige ~ income+education)

hist(rstudent(duncan.model), nclass=12)

# check if the errors in the regression are normally distributed
qq.plot(duncan.model, labels=row.names(Duncan), simulate=T)
# check if the residual distribution is tailed--linearity
plot (duncan.model)






# present four diagnostic plots
plot(hatvalues(duncan.model))


# high-leverage and influential observations
abline(h = c(2,3)*3/45)

identify(1:45, hatvalues(duncan.model), row.names(Duncan))
plot(cookd(duncan.model))



# Cook’s distance
abline(h = 4/(45-2-1))

identify(1:45, cookd(duncan.model), row.names(Duncan))

av.plots(duncan.model, labels=row.names(Duncan))

# added-variable (partial-regression) residual of Y against all predictors except X against the residual of X on all predictors except X
#cr.plots(duncan.model)

#spread.level.plot(duncan.model)

remove<-which.names(c(‘minister’,’conductor’), Duncan)
# delete the influential observations
remove

duncan.model.2<-update(duncan.model, subset=-remove)
ncv.test(duncan.model)



# nonconstant variance test
ncv.test(duncan.model, var.formula=~income+education)
# glm

source("http://www3.nccu.edu.tw/~tsaich/Sinica_R_WinBUGS/Fitting_a_series_of_regressions.R") 
# Estimation

fit.vote <- glm (vote ~ income, family=binomial(link="logit"))

display(fit.vote)
# Graph of fitted logistic regression line

curve (invlogit(fit.vote$coef[1] + fit.vote$coef[2]*x), 1, 5, ylim=c(-.01,1.01),

         xlim=c(-2,8), xaxt="n", xaxs="i", mgp=c(2,.5,0),

         ylab="Pr (Republican vote)", xlab="Income", lwd=4)
curve (invlogit(fit.vote$coef[1] + fit.vote$coef[2]*x), -2, 8, lwd=.5, add=T)

  axis (1, 1:5, mgp=c(2,.5,0))

  mtext ("(poor)", 1, 1.5, at=1, adj=.5)

  mtext ("(rich)", 1, 1.5, at=5, adj=.5)

  points (jitter (income, .5), jitter (vote, .08), pch=20, cex=.1)
 # Graph of best-fit of regression line and its uncertainty

sim.1 <- sim(fit.vote)

curve (invlogit(fit.vote$coef[1] + fit.vote$coef[2]*x), .5, 5.5, ylim=c(-.01,1.01),

         xlim=c(.5,5.5), xaxt="n", xaxs="i", mgp=c(2,.5,0),

         ylab="Pr (Republican vote)", xlab="Income", lwd=1.3, col="blue")


for (j in 1:20){

    curve (invlogit(sim.1$coef[j,1] + sim.1$coef[j,2]*x), col="gray", lwd=.5, add=T)

  }

  curve (invlogit(fit.vote$coef[1] + fit.vote$coef[2]*x), add=T, col='red') 


# simulation
  axis (1, 1:5, mgp=c(2,.5,0))

  mtext ("(poor)", 1, 1.5, at=1, adj=.5)

  mtext ("(rich)", 1, 1.5, at=5, adj=.5)

  points (jitter (income, .5), jitter (vote, .08), pch=20, cex=.1)
Distribution

Normal
pnorm(1.96, mean=0, sd=1)


# calculate the cumulative probability of normal distribution
qnorm(c(0.025,0.975))




# find the values according to the percentile of the normal distribution

Binomial

dbinom(2,size=4, prob=1/2)

# density of the binomial distribution
pbinom(2,size=4, prob=1/2)

# calculate the cumulative probability of binomial distribution—c.d.f
rbinom (3,size=5,prob=.4)


# draw 3 samples from the binomial distribution
Uniform

dunif(0.5)





# density of the uniform distribution
punif(3, 0, 12)




# calculate the cumulative probability of uniform distribution—c.d.f
r.unif<-runif(50, min=0, max=50)
# draw 50 samples from the uniform distribution
# values of distributions for containing certain area

y <- c(35,34,38,35,37)

n <- length(y)

estimate <- mean(y)

se <- sd(y)/sqrt(n)

int.50 <- estimate + qt(c(.25,.75),n-1)*se

int.95 <- estimate + qt(c(.025,.975),n-1)*se
Simulation

k= 0:2; p=c(1,2,1)/4; sample(k,1,p) 
# Two coin tossed, sample(k, size, prob)
n.men <- 1000





# draw 1000 samples

   y<-sample (0:1,size=n.men, replace=T)

p.men1=c()








for(i in 1:300){p.men1[i]=mean(sample (0:1,size=n.men,replace=T))} 





# draw 1000 samples 300 times
hist(p.men1, main="Number of sampling=300",xlab=mean(sample (0:1,size=n.men,replace=T)))

 # plot the mean
dice.2=c()

for(j in 1:30){dice.2[j]=(sample(1:6,size=1)+sample(1:6,size=1))}

# rolling a pair of dices

hist(dice.2, breaks=8)
# Normal (ARM)
library(arm)





# Gelman’s library
n.sims<- 3000


sim.fit.1 <- sim (fit.1, n.sims)

# use Gelman’s simulation function to simulate coefficients
names(sim.fit.1)

hist (sim.fit.1$coef[,2])
### Displaying uncertainty in the fitted regression

fit.2.stata.kid <- lm (kid_score ~ mom_iq)

display(fit.stata.kid)

sim.stata.kid <- sim (fit.stata.kid)

plot (stata.kid$mom_iq, stata.kid$kid_score, xlab="Mother IQ score", ylab="Child test score", pch=20)

for (i in 1:10){

  curve (sim.stata.kid $beta[i,1] + sim.stata.kid $beta[i,2]*x, add=TRUE,col="gray")

}

curve (coef(fit.stata.kid)[1] + coef(fit.stata.kid)[2]*x, add=TRUE, col="red")
Resources

Useful websites
http://jackman.stanford.edu/classes/index.php #Simon Jackman’s class notes and codes

http://socserv.mcmaster.ca/jfox/ # John Fox’s R codes for regression diagnostics.
http://www.stat.columbia.edu/~gelman/ #Gelman provides great resources of multi-level statistical models using R. (library(arm))
http://math.illinoisstate.edu/dhkim/Rstuff/Rtutor.html #Many graph commands 

http://tables2graphs.com/doku.php?id=01_start #Useful tutorial for transforming tables to graphs via R.

http://www.ats.ucla.edu/stat/  #Class notes and textbook examples for more than 10 statistical packages, including R.
Useful books
John Fox. An R and S-Plus Companion to Applied Regression.
Jeff Gill . Bayesian methods: a social and behavioral sciences approach. 
John Maindonald and John Braun. Data Analysis and Graphics Using R: An Example-Based Approach. (library(DAAG)) 
John Verzani. Using R for Introductory Statistics. (library(UsingR))
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